‘-—%
RollRite Paris s Tars

Spool Kit. Super Duty Tarp Spool w/98" Inteqgrated Housing

Part Number: 36479


https://dev.rollrite.com/envalogenerateboms.php/catalog/product/view/id/788/s/spool-kit-super-duty-tarp-spool-w-98-integrated-housing/

Spool Kit. Super Duty Tarp Spool w/98" Integrated Housing

Roll-Rite.

Aftermarket Hesources

36479 Spool Kit, Super Duty Tarp Spool w/98" Integrated Housing S/N: SDX ‘

Bom ID |Part# Description gty
1 10122 Super Duty Motor 12V. 5 Year Warranty :S/N: 1
2 36164 Housing. Spool 98" Aluminum Integrated Housing 1
3 31030 Axle. 97" Pre-Threaded Tarp Axle w/Stub Shaft 1
4 31050 Bearing. 3/4" Flanged Axle Bearing with bolts 1

www.RolIRiteParts.com | 650 Industrial Drive Gladwin, Ml 48624 | 800-297-9905



Spool Kit. Super Duty Tarp Spool w/98" Integrated Housing

Roll-Rite.

Aftermarket Hesources

36164 Housing, Spool 98" Aluminum Integrated Housing ‘

Bom ID |Part# Description gty
1 18260 Bolt. 5/16" x 5/8" Button Head Bolt - Zinc Plated 5
2 18412 Washer. 1/2" Flat Zinc 6
3 18245 Bolt. T-Bolt 1/2-13NCx1.75 for GAB 6
4 18631 Nut. 1/2" Nylock Nut 6
5 36300 Bumper. Rubber Bumper for Tarp Spool (each) 2
6 36331 Bracket. Int Housing Aluminum Endcaps - Drivers Side 2
7 18120 Bolt. 3/8" x 1-1/2" Thread Cutting Screw Hex Washer Hd 6

www.RolIRiteParts.com | 650 Industrial Drive Gladwin, Ml 48624 | 800-297-9905



